18. A, B'and C share profits in proportion of 1/2 ; 1/3 and 1/6. "I'helr-

- 19..

balance sheet is as follbw_s

L‘iabilities Rs. Assets ’ Rs.
Capital : _ Sundry assetls 1,60,000
A 60,000
B 60,000
C | 40,000
| 160,000 . 1,60,000

The partnership is dissolved and assets are realised as first
realisation Rs. 20,000; seconid realisation Rs. 30,000, third and
final realisation Rs. 50,000.. ' '

Prepare a stafémént showing how the distribution ‘should be
made: - - :
A, B wpmib C @emutiser 1/2, 1/3 wHmid 1/6 cdgsse _uaﬁlr‘r‘rjr)gmrfr.v
Qauisaiion @@L Hevad @GHILIY Gereumomm = e 1F

-QuimUsyser ~ e Qe gI5SET .
I(l?og,sbasair 3 o el LpLe Q&rr;_i_sge%a;d'r 1:,6(.),_000.
A 60,000 |
‘B 60,000
C . 40,000
1,60,000 L 1,60,000

Fal LTE@TenD SO&ESILLL-S]. Q&nﬁ‘)g&agmﬂm; Sialld s Sy
e. 20,000; Siraller Gyemireug) Sira) o 30,000 Siefled eIl

o> @il $161 . 50,000,
cr@'J,@Jrrgi] uﬁﬁﬁg@@ﬂg@m eremLISa éj@‘ﬁ;m&@u guim Qewis.
Distinguish between Indian éccouh_tiﬁg standards and IFRS.

Qi sy FaTHELIIEED WwHpb weeT G ST SETESLIDIEEGLD
@ent_Cuiujgrer Gougiin@eer ARG e <
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20.

SLULIUIN U — \O N 1V — JU Hliiadiagy
- Answer any THREE questions.

A head office invoices goods to its branch at cost plus 50%.
Branch remits all cash received to the head office and all
expenses are met by head office. From the following particulars,
prepare the necessary accounts on the stock and debtors system
to show the profit (or) loss at the branch. '

Rs. :

Stock on 1.1.2019 (invoice price) 27 ,990
" Debtorson 112019 -© . 20,400

Goods invoiced to the branch (invoice price) 1,563,000

Cash sales - S ' 75,000
Credit "salés ‘ '_ /i 93,-600
Cash collected frb’m; debtors - 91,200
Go'gds returned by d,ebtors‘j : - 3,600
quds returned to H.O by branch : 4,500
Shor'fage éf stock = - : . 11,350
' Discount allowed. i L : 600
Expenses dt the branch - - 16,200
Bad debts 2g 600

F@O@D JPAUOED, SB@@LL SADaTES <lLsseleamujer 50%
Ceipgl sT6ms  A@Aug) “opmid  Simards  QEma|s@eTuD
BEOELD DGIGIDHLD QeguélediLgl. Sharapid ssas6dmbS,

. sg&H i opmid  sLemmafleeT wapuler GHMANITET &ETEEHMAT
 sunilgg) Senerufen Q@MU DD BLLSMS SGE. '

(E
sridamoy 1.1.2019 (@Umi cfeoe) © 27,900
s enmaflsr 1.1.2019° | 20,400
- Aevers@ g FTES (@l_rn;rq eﬁ\éﬁf)m) 7 . 1,563,000
Qunés ‘aﬁjjj)umleo‘r By : L | ‘75,000
i | | 93,000
'bs'QGﬁrrﬂﬂésGﬂi—L%ﬁ&@ Qurésd aieOsss - 91,200
a;l_mnaﬂaserﬂLL&@ggg “gc\;@'iblﬂluj &&é;@ _- 3,600
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. S8
Aaamie smomn swawssdbe Aobiu srée 4500
‘ ,_acgéséﬂ@gl_; LUHDTEE D 1,350
QUL LD Si@InSlEss] ' N ' | 600
Senerufleir Qemeysdr ' 16,200
QJIIFF&?SGSI_.G'DT . ' 600

w21

22.

What are the objectives and advantages of departmeﬁt_al
accounting?

gepeuntl sensdwadier Grmébsnisdr LDj_l')g'l]Lb BETELOSET WiTeney ?

A and B are partners in a ﬁrm They sharé prbﬁts aﬁd losses in
the ratio of 3:1. Their balancesheet is as follows:

Liabilities - Rs.  Assets  Rs.

Capital - Building 1,00,000
A /80,000 Plant 25,000
B° 40000 Stock 40,000
Reserve = 40,000 Debtors 70,000

Creditors - 60,000 Cash 5000
Bills payable = 20,000 I
940,000 2.40,000

C is admitted into partnership for 1/6% share of the business 'on
the following terms : "

(a) Building'is revalued at Rs. 1,20,000
(b) Plant is depreciated to 80%
(c) Provision for bad debts is made 5%

(d Stock is revaiued at Rs. 30,000

(e)  C should introduce 50% of the adjusted capitals of both A
' and B. Open various and the new balance sheet after the

admission of C.

6 62508/BS22A/CZ22A/AY22A

15.

16.

17.

A company had two departments A and B. A department
supplies the goods to B department at its usually selling price.
From the following figures prepare Departmental Trading A/c
for the year 2019 i . :

A B

Rs. _ Rs.
" Opening stock (1,1.-2019) 30,000. —
Purchases 210,000 . -
TransfertoB ~ 50,000 50,000
Sales ©2,00,000 60,000

Closing stock (31.12.2019) 40,000 10,000

G BHowsdo A B aagbd GrarG geopsdr @oéfapar.
B gieopé@ Caamqwans siop ‘A’ eisgio epumar ol
smépg.  Spsar..  dlugmisaldmhs  2019-b 24,6007 (P& Tewr
giepauntl eflwruny Geu pay sarEGsmeT SLUMssan.

A B

| . -

< rbu srsdlapiay (1.1.2019) 30,000 -
Qsmempse " 2,10,000 =
B-&@ wmppriuc L syée 50,000 - 50,000
" eflpLiena : 2,00,000 . 60,000

Qnids sré (31.12:2019)  © 40,000 10,000

‘Explain the various modes of company disSbl_ution,‘_

';B@jm gamaL19le iquchJQ_I p@BEmeT 6fleTdss.

A and B are partners sharing profits in the ratio of 3:2. They
admit ‘C’ into partnership. C pays. a premium of Rs. 1,000 for
1/4th share of profit. No goodwill A/c appears in the books. They

withdraw the amount of goodwill. Journalise.

A pgi> B. Qarumsma 32 ddssfe Lsibs Qs

salLmafladr paur. C eramueueny sl Lranewidd sigindssart.
C % ereimm 85550 Bemusdléd urig Qsmerar (- 1,000 (penaioib,
Qegusdlanm. Lsss5H0 BHALWIT HamdE Csmemeildemen. ojquiser
EOEULGESTS by Csrasmi a(sss CsTarTL ari. WPSHSOLILY
QUMITE. - -
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SECTIONB——(5 x 5 = 25 marks) : A wpmb B dCGunt sl namenwulicd 8h.l_l_rr61ﬂ856ﬂ S @UIT.
: S|QUTGET @TUD PN BLLES®ET 3:1 66D aﬂa‘;‘lggﬁw GAS 516

Answer any FIVE questions. ; ' § Qarerdlampant. aifsEramLw @iy Heaad GO ey
g _ Qumrmtiser €. QErsg&s6r .
13. From -the following particulars prepare a branch account oS - i e :

showing profit and loss at the branch ‘ PR Pies -_ : el 1’00’_000
: A ' 80,000 gereumLb 25,000
(@) Opening stock at the branch ~ Rs. 15,000 ; _ : B 40000 STSAGLY  40.000
(b) Goods sent fo the branch — Rs. 45,000 5””9 2 2 - 40,000 sL-anmatlaer 70,000
| | sLBCpiser 60,000 Qmésd 5,000

(c)  Sales—Rs. 60,000 | il C . Geausgispeiu eamynd 20,000 | |

(@ Salaries — Rs. 5,000 2,40,000 2,40,000 "

- - | | : - Epsramind Haesald, C-eratuali 1/5 ukig uumysdd Aardss
(e) Other e‘xpen'se‘s"—. Rs. 2,000 ; , : ' J sl Lraewuled CarsasliLideanmi.
I | (S1) &g Lib mio tn§@ Qe 1, 20 000
Closing stock could not be ascertamed it is known that the * piog B .
branch usually sells at cost plus 20% the branch manager is -
entitled to a commission of 5% on the profit of the branch before ‘ (@) Qs sLayssTar @gﬂa;éi@ 5% ng)G]mmmuuLng
.

charging such commission. _ » T () ‘ 515 mg]ulﬂLuuu_g,j . -30,000

(e;b) SeTeuUmLib 80% (Bg,u.nmrrarrm assmaséh_uuu_gj

(2) A wppd B fCunfler sflaigu (yacug,esrg);ﬁsv 50% ‘C.

SisE afled e%] QiF: w0
0 @b gasa.ia)a BHS!, smms samsmas swrilss @ rru. GI‘GUTL]G)JH' Qeaiss (Sa_uem@m

BLLSsE sarsdl(Hs. _ :
iy ‘ ; _ ' <" . LdCeum et @semar g_r,quﬂg,gj LoHmItD C—anu_l G&rrg,gj 9n@ L@u_l
(). Senarded Qpg glaiss Fr&EAGIY — 6. 15,000, ' : oy feows giluy gunt Qewis.

23. X, Y and Z are equal partners whose balancesheet on 31.12:2018

(<) Slanend@ @ILILILIULL FF&@ESHET — 5. 45,000
' . ' is as follows

(@) eflpuear — 5. 60,000 | : _ s : | ~ ¢ Liabilities ‘Rs. - Assets . Rs.
Sl | | Capital Alcs " Plant and machinery 4,000
(FF)  SFLUGTRIGET — @h. 5,000 ; ; v ; '
_ | X 1,600 Land and building - 4,800
(2) @své Ae@aysdr — . 2,000. ki - - . g Y 1,000 Furniture 1,600
@Qjﬁ grsflplion  sar@iyss Qumaidme. oyamd  Samer ~ X'sloan . i 2’000 Debtors i Ty ) 4200
QUPSSLONG L bsefllened +20%  Gredm c"mq_uuem_uﬁlsu eﬁ]gpuamsm . Sundry creditors 10,000 Stock - 1,600
G]&u_léﬂ,r_r)g] &lener  GUemeT(HS S, Qorugse (5716 1'.[.-»_"' - et
(PEITETTEh @@a;@w @Gurruu;) 5% g,g@' mgprma;uuL_ CouahmHib: Cash_ inland - 100
: - ' Y’s capital =
4. ' List out the difference betwéenaf branch and a depa-rtment.' o ot ' 1.300

és]e‘mmé;@Lb sanseh - QaLlu - Qméghd  Caugur@smen . 14,600, 14,600
Ut wed{as. - T o
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Due to lack of liquidity and weak financial position of the
partners, the firm is dissolved X and Y are not able to contrlbute
anything and a sum of Rs. 400 received from Z. All of them are

‘declared insolvent.

‘The assets are: realised : stock 'Rs. 1.,000; plant and
machinery Rs. 2,000; furniture Rs. 400; land and buildings
Rs. 1,600 and debtors Rs. 1,100 only. Realisation expenses
amounted to Rs 100. You are requlred to close the books of the
firm.

| X, Y wihmnid Z gfHCumt swblae am_l_rraﬂasm 31.12.2018, .;9{66@1
SjeUTSH(@HEemL. U @@uqﬁlmma; @&OILL eumLomD)

QurgiiLser . Q&rrg,g,w;a;m ke .
.@a);_r,mas &N (G EET FoTaumL b WDHMILD @”—".‘f?gmb 4,'000
X 1,600 Hlood wHDId SLgLd 4,800
Y 1,000 Sieppsear, 1,600
X dn s1ar | 2,000 .sLemafledt 1,200
LHLIe a;L_,Gz_s"r’;‘r)CBg,'rrr'ras;iTﬂ 10,000 &7&E@mLY ' 1,600
LA é_-quT Qruéss 100
Y e epevgand

(a'g‘,]a;mrtas a@és‘emjux-'_l_gj)‘ .1,300';
14,600 - ‘ . 14,600°

gal L meflseflLtb f}rrmg,gearmm @mcorrgg,r@lw wppid HE Heawemn

Glomgnraisngyb, ~atl LTI  SDOSSLILILLE]. X wppib Y
ACUTyTD ergialbd LRSTDD @q_maﬂmmm wopd Z-uS 1O HHS!
. 400 . Gluppmi, élGIDGOTG)J([ﬁLD Qg bl GLJ[TGOTG)JIT&SGTI‘I’&'
_@{pﬂeﬁ]a;a;uuu_mrr L _

Qenésisser aﬂm&uULL_arr &r;ra;aﬁ]@uq - 1,000; Sereumid LD]DQ_ILD’
Qupdyd (5. 2,000; S@DE@ET (. 400; Blow WHHID S lgl BSET -

(. 1,600 LHYID sLamafllser ep. (1,100 WL HLD. 5%}4 Q&a)a;a;err
(. 100. ahl_l_rrmrmmufﬂsur q@asmefr qussaseqw :

Describe the developm,ent of;a_ccountmg standard in India.
@pHuireler samsduden aeniflaws dafssan.
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:What is branch expenses account‘?

-fleners Q&comes EEME(S; CTETDTED GTGHTET?

' How will you allocate expenses in departmental accounts?

'What is a partnership deed?

. Sal LTarenln LUSSTib eremmimed ereme ?

What is revaluation account?

o Logjmg‘,lulﬁl_(b\ asaszfra;@ CTETDITE) GTEvTan 2.

' What do you meanby dissolution of a- partnershlp ﬁrm‘?

g L TERTenLo SE@UIL ererLg LHb ﬁ}eﬂrr é{,@ng wng?

.Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)

Answer any TEN questlons

What are the main objects of maintaing branch ac'cou_nt?'
Slenend sHenéGsameT LymoRtushaTer padus CHTsstisaT Wireme ?
What is a department? EXpiain with eXamples.

FIDD ETETDTE GTENAT? 2 STERTEISEHL 6T 65laTsE)s.

slanm GerTédle Q&maﬁ];&frﬁ;a;dr_ TeueUTl ﬁé]gﬂu@eﬂfmg}? ,
What do you mean by independent system of branch accounting?
Hevar .asamrés‘éﬂu_lsﬂci) saflpenn SieLOLIL eTeTLSET QLIT(HET u_lrranm?
State the need of dep artment-al- accounting.

glepeurfiwimer saurésler Gg,eoeuas%mmésf sn s

Explain the meaning of fixed capital. -

Bleveuimest @mgemi; eremugar Gummer eflerd@s.

T

Viention any two obJectlves of accounting standards.

STEHELID ST (S;bna;a;rmasm FGsaib @Uemml_ SOLAHS.

Explain and expand : IFRS. .
ofards@ pmitd o9 Aauris; - IFRs.

(=



